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Session Edit View Bookmarks Settings Help

# WPA-PSK/TKIP

network={
ssid="Wireless Lab"
key_mgmt=WPA-PSK
proto=wPA
pairwise=TKIP
group=TKIP
psk="d6c1fle5bdf5e8laa4a2bB327408899bd715bd6f3f11acd7e9ab37e3648068b01"
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root@bt: ~ - Shell No. 2 - Kensole

Session Edit View Bookmarks Settings Help

:~# wpa_supplicant -Dwext -iwlan@ -c wpa-supp.conf
CTRL-EVENT-SCAN-RESULTS
Trying to associate with 00:21:91:d2:8e:25 (SSID='Wireless Lab' freq=2412 MHz)
IAssociated with 00:21:91:d2:8e:25
WPA: Key negotiation completed with 00:21:91:d2:8e:25 [PTK=TKIP GTK=TKIP]
CTRL-EVENT-CONNECTED - Connection to 00:21:91:d2:8e:25 completed (auth) [id=0 id_str=]
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root@bt: ~ - Shell No. 3 - Konsole

n Edit View Bookmarks Settings Help

:~# dhclient3 wlano
There is already a pid file /var/run/dhclient.pid with pid 5308
killed old client process, removed PID file
Internet Systems Consortium DHCP Client V3.1.1
Copyright 2004-2008 Internet Systems Consortium.
ALl rights reserved.
For info, please visit http://www.isc.org/sw/dhcp/

mon®: unknown hardware address type 803
mon®: unknown hardware address type 803
Listening on LPF/wlan0/00:c0:ca:3e:bd:93
Sending on LPF/wlan0/00:c0:ca:3e:bd:93
Sending on  Socket/fallback
DHCPREQUEST of 192.168.0.198 on wlan® to 255.255.255.255 port 67
DHCPACK of 192.168.0.198 from 192.168.0.1
bound to 192.168.0.198 -- renewal in 37236 seconds.
H
~#
:~# ping 192.168.0.1
PING 192.168.0.1 (192.168.0.1) 56(84) bytes of data.
64 bytes from 192.168.0.1: icmp_seqg=1 tt1=64 time=32.2 ms
64 bytes from 192.168.0.1: icmp_seq=2 ttl=64 time=7.89 ms
64 bytes from 192.168.0.1: icmp_seq=3 ttl=64 time=9.74 ms
~C
--- 192.168.0.1 ping statistics ---
3 packets transmitted, 3 received, 0% packet loss, time 2005ms
rtt min/avgimax/mdev = 7.893/16.623/32.230/11.062 ms
1~
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